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_ QUESTION BOOKLET 1

This question paper contains 170 questions. / §8 994 94 70 5%
All questions are compulsory. / ¥4t we7 Hfvard # | ¢
One question carries half mark only. / U %% & ferg #a e A 81 ,
Maximum Marks : 85 At 37 . 85
Time : 2 Hours qHY : 2 que
1. Bell metal is an alloy of

(A) Brass and Nickel (B) Zinc and Copper

(C) Tin and Copper (D) Nickel and COPPer

ILEBIG
(A) dae 3k e (B) fire 3 BT
(C) o7 sih Hiw ' Dy Fret 3T

2,  Atom bomb is based on the prinei]
(A) Nuclear fusion
(C) Both (A) and (
ATy &9 e farg
(A) Tivehg geraa . rerg far@sA ﬁ
©) (A B L e @ HIE AL

3.  The first synthetic fibre
(A) Terycott (B
T ERI ST 914 911 ©

(D) Rayon

(C) e (D) ©@H

(A) e gp i
4.  The chemical u%d %"X m?m%m1iusulphatc

(A) Borax

(C) Sodium sulp ! i onium persulphate
el o CRL R L L g

(A) " (B) wifsaw Rigrashe

(C) \ifeay gethe (D) T TEehe
5.  Jetengines are _ :

(A) Rotary engines (B) Turbine engines

(C) External combustion engines (D) Reaction engines
FeTE : :
(A) Tefidsm  (B) eaigAEo  (C) Wl <o ¥ (D) R $om

6. Whichisnotagland? _
(A) Stomach (B) Liver (C) Kidney (D) Pancreas

HE A F A TE R ?
(A) HAHEE (B) aFd A e (D) 3=y

e — ——— —

—



7. The main constituent of haemoglobin is :
(A) Tron (B) Magnesium (C) Calcium (D) Chiorine

e e 3aud @
(A) I B) feffem () ¥ewmw (D) AT

8.  Colour of the skin is due to the presence of :
(A) Rennin (B) Melanin (C) Mesotosin
1 %1 17 gEeh) a8 A A R
(A) T (B) wef ) R (D) Wi

9. A technique in which data is written to two duplicate disks simultaneously,

is called o _
(A) Mirroring  (B) Multiplexing (C) Duplicating (D) Copying

@ﬁmﬁmﬁﬁamwﬁmﬁﬁgﬁﬁ%ﬁﬂwq{imfammi ‘
(A) fadftm (B) wehwifdnm (C) Fefiwien (D) T

10. How many bits are there in one byte ?

v aTee § A e Ea ¥ 7
(A) 2 (B) 8 (C) 10 (D) 16

11. In MS-Word, words, lines or paragraphs carn be selected by using which key ?
MS-Word & 72, 9T 3 &t 1 Rea ot (1) & g1 S & 2

(D) Metatorin

(A) Shift (B). F5 (C) Alt (D) Ctrl
12. Siliconisa

(A) -Semiconductor (B) Insulator

(C) Non-conductor (D) Conductor

foferi 2 v

(A) wdue® (B) T (C) FaATTH (D) ITH
13. USB refers to

(A) astorage device (B) a processor

(C) a port type (D) a serial bus standard

USB % 2

(A) U% ©RA I3 (B) & WAEK

(C) e UTe 218y (D) U Hifs 79 2=

4. Which application in MS-Office is feasible for preparing presentations ?
MS-Office § =29 &1 % FoT0 Hard 37emt Ui i o1 2 9 |
(A) MS-Excel . (B) MS-Word
(C) MS-PowerPoint - (D) Microsoft Publishers

Code No. : C-682/2021/Series-C T




1S,

16.

e ing shortcut key ?
In MS-Word, which is used to centre a paragrd i;lsg;gaﬁ ? :

MS-Word # =17 € wird #e i 8 S &) =
(A) Cul+C  (B) Cul+E  (C) cul+kL
In MS-Word, which toolbar allows to changing font

(A) Standard  (B) Formatting (C) Printasr:;::g%}gf:"ﬂf these

MS-Word # ®7 & gerar & B 3 363 3R 1 94
(A) Standard (B) Formatting (C) Print previ

(D) Ctrl +R
s and their sizes ?

ew(D) FE T

17. - The minimum number of rows and columns in MS-Word d”“”?“"é IS
< (A) land] (B) 2and | (C) 2and2 (D) land0
MS-Word 3 gfagite & #m @ &3 bl 2 3ft apferd €14 £ 7 e
(A) 13m 1 (B) 231 (C) 232 (D) 13RO
18. In MS-Excel, by which menu, you can ungroup the data 7
_MS-Excel # 5 37 & 321 %) g9 fban o wspar 2 7 |
- (A) Data (B) Insert (C) Edit (D) View
19. Malaria : Disease : : Spear : ? _
_~" (A) Wound (B) Sword (C) Weapon (D) Death
weAteT ; e ;w2
(A) 9= (B) deER (C) BfEmr (D) 99
20. ich is different from the rest ?
Vo (A) Stem (B) Tree (C) Root (D) Branch
' AR A=Y
(A) 7 (B) 98 (C) 7 (D) &
21. Missing letters in the letter series are
HET G | T FEW
aa_ab__aaa_a
(A) aaab (B) aabb (C) abab (D) baaa
22. In English alphabet series which letter is 8 to the right of 7 letter from the left ?

i goiaTen # F O AR &0 8 gaa 38 % e § Jeai 2 2
(A) O (B) A {C) X (D) B

chrtﬂin code ‘RIGVEDA’ is written as ‘TFISGAC'., How is

NISHAD' written in this code ?
foreht fafesa %2 & *RIGVEDA’ %1 *TFISGAC’ &1 3man 8, &t “UpNISHAD®

! 36t Tz # fopg ween foan smem 2
(A) WMPFUFCA (B) WMPFUECA
(C) WMPFUDBA (D) WMPGVCBA
. 5 Code N0, : Cogm i ————
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26.

27.

28.

29.

Code No. : C-68212021/Series-C 6

Satish walks 8 km south, turns right and walks 6 km and then turns to north-
east and walks 10 km. How far is he from the starting point ?
:3: ?‘}:1 (gJ L{l k::ﬂing point

2 ts
T for o, 2 1 ST R, g3 e ofe e 6 .. e &,
ot o e et 10 .3 ST & | g e e & e 1 2 2
(A) 8km ®) 10km  (C) 12km (D) e IER

If the day before yesterday was Saturday, what day will fall on the day ﬁfrf

tomorrow 7 e o
(A) Friday (B) Thursday (C) Wednesday (D) Tuesday

uﬁmm%mwﬁ?mmmmm%mmfm_mmm?
(A) YaR (B) ¥eWfoar  (C) FWaR (D) TeTER

In a class of forty students, Samir’s rank from the top is twelfth. Alok is
eight ranks below Samir. What is Alok’s rank from the bottom ?

(A) 20" (B) 21¢ (C) 22 (D) 19*

aTeig Bl € wE § 99 1 & SR 4 9l 8 | ITETE 1 16 GHI § I8
T S B | S F1 b A ° fhaar & 2

(A) 20af (B) 214t (C) 22af (D) 19a&i

If the digits of the number 5726489 are arranged in ascending order, how
many digits will remain at the same positon ?

- —

(A) One (B) Two (C) Three (D) Four
72 GwaT 5726489 F 3! I wga 0 A TG, A Fraw 375 39 TIH WA @ 2
(A) @& (B) @ (€) = (D) =W

Pointing to a man in a photograph, Leesha said, ‘his mother’s only daughter
is my mother’. How is Leesha related to that man ?

(A) Nephew (B) Sister (C) Wife (D) Niece

T HIEHTS & T A i AR FT Hid §C A 3 Fa, Iqeht af H gwei

A 3 5t & 1 oftom 1 9w =i & o day & 2
(A) wfsm ' (B) WA (C) geh (D) Wit

‘Dheeiyan Di Lohri’ and ‘BASERA’ are the recently launched scheme of
which Indian State ?

(A) Rajasthan (B) Punjab (C) UP. (D) Bihar
‘el @ sy i cwm fem wieta TS gr1 BT # S ) ¥ Fieemd # 2
(A) e © (B) wwE (C) Z. (D) faEm

— —
e e p—



30.

3.

32.

33.

34,

35.

Indian-American Dr. Raj Iyer has been recently named the first Chies
Information Officer of the Army of which country (D) UK.

(A) Singa (B) USA
m%'x! mmmmé%m £ Al & 9T T gy
STl o 7o § 9
() R @) @y (@ wwm 0 IAF
Which High Court recently ruled that advertisement of any article using the
name of any God as illegal ?

(A) Madras High Court (B) Bombay mgthCn:;tn
) Gujarat High Court (D) Guwahati Hig
%ﬂﬂ!ﬁﬂﬁi%mﬂﬁﬁwwmﬁw I/q1E H £ fafl & fomes =) 54y

uifim & 2
(A) TFE AR (B) sARHEE (C) mowa g (D) T wéw
The PM CARES Fund Trust has recently allocated ¥ 201 crores for

installation of which equipment ?
(A) Oxygen Generation Plants (B) Air Purifiers

(C) RO-Water Purifiers (D) Makeshift hospitals

PMﬂﬁ#ﬂmmﬁamﬂm%%qum g Fmared i # 2

(A) Srraefta f (B) arsm

(C) ¥m- :mvh'mp mw

Which Indian rQ mﬁf& first-of-its kind ‘Human

Rights Cell’ ?

(A) Indian Navy (B) Indian Army ¥ i

%?H Indian Coast Guard (D) Indian Air Force
Tﬁhﬂmﬁm#mﬁmﬁﬁmﬁmmmmm

TaR?

(A) s faan (B) wreia 9= &4

(C) Wy aevers (D) wreta &g &

Asian water bird census 2021, which was in news recently, is to be

conducted in which state 7
(A) Kerala (B) Tamll Nadu

(C) Andhra Pradesh EEH

ufdra arer o€ &4 2021, A EE d o1, f& mﬁhrrm?

(A) & (B) AR (C) FWWA (D) T

Zhong Shanshan, who recently replaced Mukesh Ambani as Asia’s richest
person, is from which country ? |

(A} Smgapure (B) China (C) Japan (D) Thailand
Far & B ﬁ ufyrn & A 3R e
b bl £ el ok

(A) famg (B) (C) M (D) wrédve

7 CndtNu.:_l-C..ggmM”Se i
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37.
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I.;",'I
2
2
7
E
5
o
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wh“ has been recently appointed as the new Chairman of the Railway Board ?
(A) AK, Antony (B) Pradeep Kumar
(C) P.S. Mishra (D) Suneet Sharma

1o Ard % u Sl % w9 5 e 8 i sl ag ww R T 8 2

(A) UF. G (B) W () dve fom (D) Fha

Sunil Kothari, who recently passed away, was associated with which
profession ?

(A) Dance Historian (B) Cricket Commentator

(C) Businessman (D) Scientist

Wm.ﬁmwﬁﬁmmg.ﬂﬁmmﬂmmﬁ&?
(A) T sfmasr(B) e wifter () savmfa (D) ERIlEEs

Which Indian organization is developing ‘Green propulsion’ technology,
that was seen in the news recently ?

7 | e g MR Srer S 9w @ 8 e 3 9, #
Ceatn iRk

(A) DRDO (B) ISRO (C) BARC (D) OFB

.~ The headquarters of district Kangra of H.P. is

(A) Palampur (B) Kangra (C) Dharmshala (D) Nurpur
fa.5. % whre et &1 TE&awE &
(A) WTETHL (B) #iTeT (C) wismen (D) TH

Sex ratio of H.P. as per census 2011 is

2011 % FVET & HTER 2.9, %1 S 3 2

(A) 972 (B) 983 (C) 987 (D) 992
Which is not an administrative division in H.P. 7

(A) Kangra (B) Mandi (C) Shimla (D) Hamirpur
= 4 F 9 fR.y, =1 yeafs gse Adi R 7

(A) HITel (B) wEi (C) fimen (D) &HRI
Deoli fish farm is located in which district of H.P. ?
(A) Bilaspur (B) Hamirpur (C) Una (D) Kullu

i nm e S e wfrafmdfRmt?

(A) fammaq (B) FHITR (C) 3 (D) el
Hathi dhar is located in which district of H.P. ?

(A) Chamba (B) Mandi (C) Sirmour (D) Shimla
refiyn ey g fmdfRae?
(A) e (B) HEl (€) faoir (D) firmen

— - —
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46.

47.

49.

51.

rict of H.P. 2

Pahari Gandhi Baba Kanshi Ram belonged to which dis
(D) Kangra

(A) Sqlan (B) Shimla (C) Kinnaur
qETE wrieft wra it 2.9, % fra R | gafua £ 2
(A) Grem (B) firen (€) fa=in (D) it

Sorang lake is located in which district of H.P, ?
(A) Lahaul-Spiti (B) Kinnaur (C) Una
arm st fRw. & fra @ d R 22

(A) we-wfify (B) fap=ik (C) w1

Dungri fair is celebrated in which district of H.P, ?
(A) %nnau: (B) Lahaul-Spiti (C) Mandi (D) Kullu

T Aen fR.w. & forw @ S 8 2

(A) frei (B) wm@a-efifd (C) u#h (D) F°
Murangla mountai i d in which district of H.P. ?
(A) Slgn'nnur o ( ) sifi:i?ﬁm m{%)m(':gﬁ"ugw (D) Lahaul-Spiti

T gefa firen frw. & e e d a2 2
(A) faoi (B) femen (C) v (D) wmere-Tia

Mahunag fair is celebrated in which district of H.P. ? .
(A) Mandi (B) Kullu (C) Shimla (D) Sirmour

wgm den 2.9, % form ot & marn S 2 2

AK) & (B) T (C) famem (D) P
First Chief Justice of H.P. was
(A) Justice M.H. Beg (B) Justice M.C. Mahajan
(C) Justice P.D. Desai (D) Justice V.K. Malhotra
f&.w. % wum g =iy 4
wfeeq uq.ug. &1 (B) wifera w i, warE

(C) wfeea ft.4. 2ars (D) wfeew &1.%. 7eam

Which is the oldest Himachali Newspaper ?

(A) Himsata  (B) Jansata (C) Kshetriye Tej (D) Giriraj
Had QA femraeft AR S AR 2

(A) femamn (B) F&El (©) #efmas Dy fifos

Who was the founder of Bhajji dominion of H.P. 7

(A) CharuRaja (B) BirSen (C) BahuSen (D) Durga Singh
fe.3. & vl AT 1 HEATIS A 91 2

(A) IETE (B) #WEA (C) Wg&EA (D) i fifm

0 Code No. : C-68212021/Series-CC



52. :
2. The last ruler of Nurpur princely State of H.P. was

(A) BirSingh (B) AjitSingh (C) ShivSingh (P
&1, % g aroremd & et sves = & 7 :
(A) dfig = (B) R (¢) RafiE (D) et e

) Dalip Singh

§3.  Tabo monastery is located in which tehsil of H.P. ?

(A) Bharmour (B) Pangi (C) Kalpa (D) Kaza
fR.w. % forg aeefier i aa wa wnfie R 2
(A) woiR (B) i (C) ®edl (D)

54.  In which year Sansar Chand — II succeeded to the Kingdom of Kangra ?
A e — 11 fa ad & Hie) e & T & 2

(A) 1735AD (B) 1755AD (C) 1775 AD (D) 1785 AD

85. H.P. became Part ‘C’ state in which year ?
fi.y, q-+C’ Uy ford o & a1 2
(A) 1948 AD (B) 1950AD 4€) 1951 AD (D) 1954 AD

56. Which district in H.P. has largest area under potato production ?
(A) Lahaul-Spiti (B) Kinnaur  (C) Sirmour (D) Shimla
Fo . %1 @ H1 T 36 3 IeaneH H qad 9 HHel Jren 8 7
(A) wE-gifa (B) f=it (C) fait (B fame

57. Which is the oldest hydel project in H.P. ?

(A) Shanan power project (B) Chamera-I project

(C) Bhakra project (D) Kashang-I project

.5, % TR e TR af H R 2

(A) A Tt aRersT (B) =TT-1 qRTsHT

(Cy g el TRESHT (D) <ui-1 g
58. Tea is grown in which valley of H.P. ?

(A) Kullu valley (B) Doon valley

(C) Kiarda-doon valley (D) Kangra valley

fa.y. € fapw el & = IS STl B 2

(A) T o (B) g@ard

() framer-ga aré (D) Fhrgrad

—— —
e —— —— e — —
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Directions (Q. 59 to 63) : Choose the W out of the foyy

given alternatives A, B, C and D.
59. (A) Retrieve  (B) Retreive  (C) Retrive (D) Retreeve
60. (A) Industrios (B) Indastrious (&) Industrious (D) Industreous
6l (A) Crual (B) Cruel (C) Crooal
62. (A) Subcide  (B) Subsaide  (C) Subcaide @ Subside
63. (A) Prerogative (B) Prarogative (C) PrirogatiVe (D) f’fﬂfmgam-e
Directions (Q. 64 to 68) : Choose the most appropriate option out of the

four given alternatives A, B, C and D 10 fill in t
64. The chief guest's wife gave the prizes.

(A) off (B) up (C) away (D) out
65. By this time next year, Shashi her final examination-

(A) shall take (B) will have taken ﬁ

(C) will take (D) would take :
66. She sings her mother does.

(A) like (B) as (C) asif (D) soas
67. The committee has to submit its report two months. :

(A) during (B) within (C) until (D) till
68. The robbers were arrested and prison yesterday.

(A) takento  (B) takeninto  (C) broughtin (D) broughtinto
Directions (Q. 69 to 73) : Choose the most appropriate word out of four

altenatives A, B, C and D which best conveys the meaning of the given

€X 10

69. Anything written in a letter after it is signed _
(A) Posterity (B) Postdiction (C) Postscript (D) Corrigendum

70. Mania for travel
(A) Dromomania(B) Pyromania (C) Biblomania (D) Logomania

71. A commonplace remark
(A) Dialogue (B) Platitude (C) Epigram (D) Statement

72. Place where birds are kept
(A) Zoo (B) Apiary (C) Armoury (D) Aviary

73. A political leader who tries to stir up people
(A) Demagogue (B) Dictator (C) Statesman (D) Martinet
11 Code No. : C-682/2021 fSEﬁu -C




4.

76.

77.

78.

79.
80.
81.
82.

85.

86.

87.

e option out of four

riat .
. to the given word.

Directions (Q. 74 to 78) : Choose the most HPP"“PI
‘e in Me

alternatives A, B, C and D which is o

Humble | s
(A) Dominant (B) Proud (C) Despotic (D) ro

Depl

l:r iﬁt‘und (B) Replenish (C) Fulfil (D) Recover
Fickl ¥
{:; Eisensed (B) Fast (C) Constant (D) Quic
Erratic

(A) Regular (B) Right (C) Punctual (D) Free
Evid |

{e:; ESntispected (B) Disagreed (C) Doubtful (D) Unimportant
3y (v, 792 83) : W IR AT

(A) qur (B) HEww (C) =amoT (D) HTHRA
W B ¥ (© F@ (D) I
(A) shefm  (B) dfmfm  (C) e (D) InfeERl
(A) T0E  (B) IweE  (C) T (D) IrEe
) PO (BYEsS (C) Fee (D) Fada
gy (v. 84 @ 88) : &t 3f gfig

Sanction

(&) 7 (B) e (C) &M (D) |
Cuucqrrencg

() #E (B) W (C) weh (D) FWW
Expert

(A) favems  (B) fadiwm (C) feamr=m (D) aRE

Technical
(A) wfafs  (B) dww (C) wum (D) wenay

Infantry
(A) varfa (B) afwe (C) 9T (D) wiass

Code No. : C-682/2021/Series-C 2 T



89. “Ie I3TE e gyt aved @

(A) W s (B) wam

(€) ™ A wry (D) g e FO
90. ‘qaTeT’ # W &

(A) iy (B) aeqed (C) &= (D) A
9. W % uiy faeda R

(A) sia+am  (B) wfi+3m  (C) W+ FW ®) gt + S

92, ‘“oER’ % W R
(A) Toradt @) Efa (C) T (D) T

93, ‘&I i wgaEq #
(A) &t @ ‘ww (C) &m (D) WA

04, ‘AT’ ) wrEEES " R
(A) i (B) it © @ (D) arat

95, ‘ga @ favmmd

(A) T ® = () & @) T
96. ‘TSR A IR

(A) & (B) M @ < (D) T

97. ‘a1’ %1 qataaTel &
(A) THIR (B) famm (€y 7= (D) ferm

98, ‘mrft’ % faem w2
(A) @i @) wfws  ©) F™ (D) wgfem
13 Code No. : C-682/2021/Series-C




%,

Which Of the ﬁalh“"-'i“k’- Indus Valley sites is now in Pakistan ?

(A) Hamppﬂ (B) Kuiihangm; (C) Lothal (D) Alamgirpur
T B g g feie) ST HA 22wt sy qrfeeear i R 2

(A) emy (B) #wfm () wad (D) FTEHIR

100. Which animal Was known the ancient Vedic people
(D) Lion

(A) Elephant (B) Boar (C) Tiger
it At @ 8 R SR ) o e 4 7 ‘
(A) wef (B) v (C) ®m (D) M

101. The first Buddhist council was held in the reign of
(A) Bimbisara (B) Ajatashtru  (C) Ashoka
ey v ifes FoREt TS 3 hrefeprent 3 g 7

(A) fufER  (B) smmwy  (C) I (D) HA
102, Chalukya ruler, Pulakesin II defeated

(D) Kanishka

(A) Dharmpala (B) Samudragupta

(C) Harshavardhana (D) Chandragupta Il

TR T, T 113

(M W@ (B) WEmTE (C) g (D) =4 11
Qﬂ)ﬁ;ﬁa succeeded Sultan

(A) Bahram (B) Qutbuddin Aibak

(C) tutmish (D) Ruknuddin Feroz

o & =G goa™ & |

(ﬂi HEH (B FageH UEs (C) Fegamm (D) FHAEA T

104. Sudhavaita is the philosophy of
(A) Kabir (B) Ramanuja (C) Vallabha (D) Chaitanya

Ui I 2
(A) R (B) THEHA (C) aoom (D) |53

105. Madurai was the capital of
(A) Cholas (B) Pallavas (C) Pandyas (D) Rashtrakutas
Agt Ty ot
(A) 99 (B) 9oeeid (C) wvea (D) TEHe
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J06. The court language of Mughals was

(A) Arabic (B) Hindi

Tt o) TrargraTd) s e

(A) (B) fe&d
Il;l‘;':" Sher Shah’s real name was

(A) Hemu (B) Faizi

IRITE &1 F|eh 7 a7

(A) ¥ (B) it

108. Goa was first colonized by
(A) Portuguese (B) French
TiET T TEe 9SG &4

(C)

(C)

(C)

(€)

(©)

(A) gdmferdi gra (B) seisifaEi g/ (C)

109. Sarnath’s lion capitol is attributed to

(A) Kanishka

(C) Ashoka

ATy %51 T W e gEfia 2 2
(A) ®i=H (B) wHaHA

110. The temple of Angkorvat is in
(A) Laos (B) Myanmar
sraTe Afe feud 2
(A) | d  (B) mAWRA

(B)
(D)

©)

(€)

©

Urdu (D) Persian
7 (D) I
Bahadur (D) Farid
TR (D) Hig
Dutch (D) English

Harshavardhana
Chandagupta H

w9 (D) IEI=

Vietnam (D) Cambodia

frgem# (D) S=ifeATH

Me first battle of Panipat was fought in which year ?

g &1 s e fra A A g8 2
€A)1526 (B) 1757 (C) 1761 (D) 1764
12. /The ancient name of Bengal was
(A) Matsya (B) Gauda (C) Vatsa (D) Kamarupa
T %1 T A 41
(A) " (B) M3 (C) s (D) HmEY
15 Code No. : C-682/2021/Series.C




13 .
3, Ashlaprudhan' adorned the court of

(A) Shivaji (B) Krishnadevaraya
(C) Rajendra | (D) Vikramaditya Il
‘HENUT fpd g 6l W Y 7

(A) framsh (B) F9REm@ () -l (D) famfeea 1l

114, The third sangam was held at |
(A) Arikkamedu (B) Emakulam (C) Madurai (D) Tuticorin
et i gl gt o0
(A) sfwig  (B) WiEewm () 5 (D) eI

115. Who is known as the ‘Grand Old Man of India’ ? _
(A) Khan Abdul Ghaffar Khan (B) C. Rajagopalachari

(C) Lala Lajpat Rai (D) Dadabhai Naoroji
50 e =1 g 378 A e e R
(A) @H e THERI W (B) i, rsmarErET
(C) et Srdd 1™ (D) s

116. The first woman President of the Indian National Congress was
(A) Kasturba Gandhi (B) Annie Besant |
(C) Sarojini Naidu (D) Vijayalakshmi Pandit
WA TP Hi ! 59H Hige Hegs of

(A) T (B) whade (C) wifwfiamg (D) faemes i

117. A.O. Hume was associated with

(A) Civil services (B) Military services
(C) Health services (D) Education services
U, 311, W w8

(A) ffmasn  (B) ffsdidm () meadw (D) fan
118. Gandhi Irwin Pact was signed in London in

form o mieft-gafam Awsid T e ® wenat g3 ¢

(A) 1925 (B) 1928 (€) 1930 (D) 1931
119« Which is ot a Fundamental Right ?

(A) Right to Equality (B) Right to Property

(C) Right against Exploitation (D) Right to Freedom of Religion
¥4 3 B 71 diferss rfwr AE 20

(A) |91 &1 3rftsR (B) Tl &1 sfusR
(C) w1 % fawg wAfuR (D) wfifes weaen 1 aifran
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120. Who presides over the meetings of the Rajya Sabha ?

21

122.

123.

124.

125,

(A) President (B) ViCc-PrESidunl
(C) Prime Minister (D) Speaker
TS W1 6] Sresran 1 e R 2

(A) Ty (B) y-upafa  (C) wwrdh (D) i
Chief Minister of a state is responsible to

{A} Governor [B} chis[a[ive ASSEmbl}r
(C) Prime Minister (D) Rajya Sabha

fobeft T 1 T S R

(A) TRWE  (B) Rym@w  (C) wumwft (D) T

How many types of emergency have been visualized in the Constitution of
India ?

(A) One (B) Two (C) Three (D) Four
YRS e ¥ f5a3 war & smaraee feu o # 2
(A) T (B) @ (C) (D) X

Planning in India derives its objectives from
(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Fundamental Duties

(D) None of these

T & IS BT IE9d AT B

(A) Hfers FfowRi e (B) = ¥ i faeersh 7 &
(C) whfereh it & (D) ¥ & % 7

The first Law Commission was set up in

(A) 1950 (B) 1955 (C) 1960 (D) 1965
e fafty st <t wemon &3 oft

(A) 19508 (B) 1955 (C) 19607 (D) 1965%
Parliamentary elections are organized by the

(A) President (B) Prime Minister
(C) Lok Sabha (D) Election Commission
HHEH T Fraio e A 8 39 g

(A) Tgafa (B) Sy (C) eremE (D) T 3
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126, Who is the executive head of a Municipal Corporation ?

(A) Mayor (B) Commissioner (C) Secretary (D) Deputy Mayor

TRy 5y werE e WS Y w2 0 \

(A) B (B) e (C) @weh (D) TFA A
127. When did pelhi become a Union Territory ?

et g giftre e 5 &1 9

(A) 1947 (B) 1950 (C) 1956 (D) 1960

128. Finance Commission is %ppuint:d for

A) 2 years (B) 3 years C) 5 years (D) 6 years
e s 1 75 ) 3 o i 2
(A) 2ad (B) 3ad (C) sad (D) 6ad

129. President of India can be impeached by
(A) Supreme Court (B) Central Cabinet
(C) Parliament (D) None of these
W % Tgd e W HETE S e &

(A) Hat= =R ) g Sz
(C) §5e a ) &H & HIE TE
130. Themaximum strength of Rajya Sabha-is
C_—Tr=gav Ht AftEan ge 2
(A) 248 (B) 250 (C) 252 (D) 262
131. The right to have a family life is a
- (A) Moral Right (B) Political Right
(C) Civil Right (D) Natural Right
qTiETiEs e 1 At 2
(A) Afes sftepn (B) Trrifers siftrme
(C) s fepm (D) i sfen

132._‘Panchayat Samiti’ is Constituted at
(A) Citylevel (B) Block level (C) Village (D) District level
‘TaTE giufa’ %1 7e4 g 8

(A) li®RT (B) &SRR (C) MEFW (D) Prerwmw
133. Who is considered as the ‘Architect of Panchayati Raj’ in India ?

58 B.R. Mehta &B% L.M. Singhvi
G. V.K. Rao D) Acharya Narendra Dey
WA ‘Tt 1 % R F9 9E s E 0

(A) f.3m g (B) v v (C) RAF. W@ (D) smHAZ I

m—
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134.

135.

136.

137.

138,

139.

140,

India has

(A) Free economy (B) Mixed economy
(C) Gandhian economy (D) Socialistic economy
WA o R

(A) T SrefeaEy (B) fufta sreferae
(C) miftr sreferazen (D) wmifies AT
National Income of India is compiled by

tatistical [nstitute

(A) Finance Commission (B) Indian § -
stical Organisation

(C) National Development Council (D) Central Stati
WA 1 U 3 fe qr wefera H1 R 7 |
(A) fami smam (B) wdra aifeadh G

(€) T e e (D) ¥fra wifgaeh) HeT

Which is not a direct tax ?
(A) Wealth Tax (B) Sales Tax (C) Income Tax (D) Estate Duty

T A NI HAR 2 ?
(A) s ®  (B) Rt (C) FEH (D) -4

Monetary policy is regulated by

(A) Money Lenders (B) Central Bank

(C) Private Entrepreneurs (D) Government Policy
s Hifs genfera i md @

(A) HTEERRi W (B) #=e &%

(C) sl =meadt gra (D) wwHH Hifa g

How many languages are used on a ten rupee note ?

za w74 % A R et wmard €t & 2

(A) 8 (B) 12 (C) 15 (D) 18
In which year was the Rolling Plan introduced ?

Tife v fopm ad | o ?

(A) 1951-52 (B) 1976-177 (C) 1978-79 (D) 1984 -85
Jawahar Rozgar Yojana was started by

(A) Jawaharlal Nehru (B) Rajiv Gandhi

(C) Indira Gandhi (D) Sanjay Gandhi

FaTET TSR Ao Fah gr e T 7

(A) FaTeerer g (B) WA M (C) srumdi (D) H9 it
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141, When w as (he Co-operative Societies Act first passed in India ?
ST 3 ) itz HETE) g qad TEe i g3 7
(A) 1904 (B) 1910 (C) 1914 (D) 1924

142. Income that is saved and not invested is known as
(A) capital (B) hoarding  (C) deposit
T 3 e ) 1 B SR e T, 38 @

(A) osfi (B) wwraft  (C) FWI

) e

143. Who is regardﬂd as the founder of the Scientific Socialism |

(A) Rousseau (B) Karl Marx (C) Engels (D) Lenin
fordy Agrfen HHTSRITS %1 S e 1l 2 ? :

(A) &4 (B) Feiwad  (C) U~ieH (D) @

144. Which state has the lowest rate of literacy ?
(A) Bihar (B) Odisha
(C) Himachal Pradesh (D) Uttar Pradesh
£ 1= o AT & e ] 2
(a) formm (B) sfgm  (C) Pewmwwem (D) I I

145. Industrial Policy Resolution was first adopted in
v ift T=TE WYY ¥R FA 9 T 7

(D) None of these

(D) ¥ 8 w1 T

(A) 1948 (B) 1952 (C) 1956 (D) 1966
146. ‘Golden Hand Shake Scheme’ refers to

(A) New Industrial Policy (B) Exit Policy

(C) GATT Agreement (D) None of these

Teed 22 9% =’ frad ga=fua & 2

(A) Tt Fhenfivs i (B) ufFwz uiferet

(C) GATT ®agital (D) T8 & %13 78
147. In which year was the new currency ‘Euro’ introduced ?

Tt gz g0 faem = 39 § 3 2

(A) 1999 (B) 2001 (C) 2003 (D) 2005
148. Rangrajan Committee was constituted for

(A) Disinvestment (B) Banking reforms

(C) Tax reforms : (D) Foreign trade
TTa+ Aftfa %1 e faes o e mn 7

(ﬁ] fafram (B) %gﬂu (C) FHYR (D) ﬁiﬂm
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149,

150.

151,

152.

153,

154.

155.

156.

Atmospheric humidity is measured by

U":} pﬂ}'ﬂlhl‘l‘ﬂﬂt‘lt‘l’ B Ane“mmetcr
(C) Lysimeter D; Hydrometer
aTqHEEta A ) s g w s f 7

(A) WmwHher  (B) ufmnhe  (C) ardnhee (D) RS

Which planet is known as the ‘Watery Planet’ ? ,

g;}l Mgrcu:yh "(E"]" HEME ﬂﬂry[(‘}ani’ms (D) Jupiter
e Y el e € 2

S (B) e (C) W (D) TEwAfS

Geostationary orbit is at a height of

yfen s (Rl sifie) @ Fad w
(A) 300km  (B) 360km  (C) 3600km (D) 36000km

The International Date Line passes through _
(A) Bering strait (B) Gibraltar strait (C) Florida strait (D) Malacca strait
TS 32 TE T | et B

A) Mz (B) Pewme (C) wERe (D) TEEIRE
How many lines of latitude are there on the globe 7

(A) 90° (B) 180° (C) 360° (D) None of these
TeTe T et srerTe tad # 9

(A) 90° (B) 180° (C) 360° (D) ¥ & B T

The monsoon has well developed cycle in
(A) South and South East Asia (B) North Australia

(C) East United States (D) Africa

g 1 U] it =% 98] W aad sl # E
(A) for 3 2féqon g oftrn (B) Iah sreferan

(C) it st (D) 37k

Sedimentary rocks are formed by the process of

(A) Metamorphism (B) Deposition

(C) Weathering (D) Solidification

aard) fie 71 6 wira 2

(A) FAEm  (B) g (C) uard (D) T
The most salty sea in the world is

(A) Deadsea (B) Redsea (C) Ural sea (D) Black sea
o o Hed e A R

(A) HaHFR (B) el 97 (C) I HM (D) e 83
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157

158,

159,

160.

161.

162.

163,

1“'

+ Helsinki is the capita! of | e
[;:H?::l;ﬁl::fumtﬂ} Finland (C) Norway (D) Swe
Rerfeeh) o B
(A) urédivz (B) frdve (C) (D) EE
Which river crosses the Equator twice ? . il
M’;"-‘:;:;:L: (B) Congo (C) Nile (D) Orinoco
mmw@mwﬁammmg? ‘
(A) e (B) (€) e (D) !

The climate best suited for horticulture is _
(A) Equatorial (B) Mediterranean

n (D) Tundra
%ﬁ"fmmmmm oo R 7

(A) semadi  (B) ES (C) WHHA (D) 23
The leading mica producer in the world is

A) USA (B) USSR (C) Japan (D) China
gn;amgﬁmﬁmﬂwmi

(A) .@E.T (B) 4.wH.u8.31. (C) 99 (D) ¥+
India leads the world in the export of

(A) Manganese (B) Mica (C) Cotton (D) Coffee
WA g &1 aed w31 Frates @

(A) &g ®  (B) WEEE  (C) FAEF (D) HHH

Which continent has the highest population ?

(A) Asia (B) Africa (C) Europe (D) Australia
fe HETEI i FHEEH Had A R 2

(A) ufirn (B) w1 (C) T (D) Ftefema
The original home of the gypsies was

(A) Russia (B) Persia (C) India (D) Egypt
GG 1 ! T 1

(A) ®& (B) wrH (C) wrd (D) fo=

The Himalayan rivers are

(A) Monsoon fed(B) Snowfed (C) Ephemeral (D) Seasonal
fommert

() wol  (B) W (C) #Rw (D) whed
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165.

166.

167.

168.

169.

170.

Mahadev Hills are located in
(A) Bihar

(C) Andhra Pradesh

HETea veifEai fiyq &

(A) faer (B) wHEn

(B)
(D)

(C)

Rainfall in India is not associated with

Maharashtrd .
Madhya Prades

:ﬂ'l;um (D} I-“-Iim

(A) Cyclones (B) Anticyclones

(C) Convection (D) Orography

W H A § i T 2 &

(A) SohaT (B) wfawsham (C) wawd (D) R
The smallest Union Territory is

(A) Chandigarh (B) Puducherry e
(C) Lakshadweep (D) Andaman & Nicobar Islands
mmhmmt

(A) avEmg (B) gg=t

(C) w&g™ (D) 3eam 7 Fean &9 T8
Gir forests are located in !

(A) Kerala (B) Assam (C) Maharashtra (D) Gujarat
fin o fea 2

(A) & (B) 3tEW (C) wEWE (D) TR
The gas used to extinguish fire is

(A) Neon (B) Nitrogen : ﬂ
(C) Carbon dioxide (D) Carbon monoxide

3 g % fore i o e I A @ 2

(A) faatq (B) AATEISH

(C) e SBATFETES (D) HTEA HHEETES

Caustic soda is

(A) Sodium chloride
(C) Sodium hydroxide
Hifees dE 2

(A) @ifeam FeTes
(C) wifeaw EEgaTEs

(B) Sodium carbonate
(D) None of these

(B) Hifeam Hmate
(D) 38 & 1§ &

e T



